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1) done

2) .1£._2-=.1-
15 15 15

3) 1Q+JL = 1§..
20 20 20

6 4 2
4) 12-12 = 12

6 9 15
5) 18+18= 18

9 5 4
6) 15-15= 15

10 4 14
7) 20 +20 = 20

50

1) 1+£=Q.
6 6 6

5 6 11
2) 15+15=15

12 6 18
3) 24 + 24 = 24

4) ~_.£... = 2-
18 18 18

12 3 9
5) 18-18 = 18

6) ..£.-_..Q.. =_1
30 30 30

2 4 6 8
7) "3='6=9=12

8) .1= JL = .1£.= .1§.
7 14 21 28

9) 24+4= 6
6x1=6

10) 25 +5 = 5
5 x 2 = 10

11) 63+7=9
9x1=9

12) 30

13) 80

14) 400

15) 700

16) 5/6 of 60:
60+6=10
10x 5 = 50

17) £+1=.1£.+2-=1.§.
3 6 18 18 18

18) 31 x 12= 372

5E

6 5 11
1) 30 + 30 = 30

2) 2-+JL = 1.i
15 15 15

549
3) 20 + 20 = 20

4) 25 _ ..£.- = 12.
30 30 30

5) .1§._ .1.§..= ...L
20 20 20

633
6) 18-18 = 18

1 2 3 4
7) 2"='4=6"=8"

8) 1=..2...= JL=.1£.
6 12 18 24

9) 18-;-3 = 6
6x1=6

10) 42+7=6
6x3=18

11) 9+9=1
1x2=2

12) 50
13) 60
14) 800
15) 100

16) 1 +1 = ,£+1. =.§.
3 2 6 6 6

2 1 8 5 13
17) 5" +4 = 20 + 20 = 20

18) 2/5 of 20:
20+5=4
4 x 2 = 8 pears
1/4 of 20:
20+4=5
5 x 1 = 5 apples

19) 221 x4=884

20) 8+13+19=40'

5F

12 8 20
1) 24 + 24 = 24

5 12 17
2) 20 + 20 = 20

6 6 12
3) 18+18 = 18

3 2 1
4) 6"-'6=6"

5) JL -..Q.. = 2-
20 20 20

6) 1.§._'£'" = ~
18 18 18

3 6 9 12
7) 4=8"=12=16

8) .§.= 1Q= .1.§..= 20
9 18 27 36

9) 25+5 = 5
5 x 2 = 10

10) 30+3=10
10x 2 = 20

11) 56+8=7
7x1=7

12) 60
13) 10
14) 100
15) 400

16) 1_~=§._.i=£
4 2 8 8 8

17) 3/8 of 80:
80+8=10
10x 3 = 30

18) $15.34 + $19.99 +
$16.50 = $51.83

19) 50 +30 + 50 + 30 = 160'
20) 12x 24 = 288
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